SH2ERTI

GUR=B ) SP2E - 32 GP N - []

@) @ ® @
OREERE @) §=E 34 ©]):F:% % 15 @R
32-9232 80 -@80 GP-gtEFH N - TRE&EK ZFH - Tk
40-240 100 - @100 GF - i = S - B P %R
50 - ©50 125 - ©125
63 - 63
RES
BS 32 40 50 63 80 100 125 32 40 50 63 80 100 125
SP2E-P1 ° ° - - - - - ° ° - - - - -
SP2E-P2 - - [ - - - - - - [ - - - -
SP2E-P3 - - - ° ° - - - - - ° - - -
SP2E-P4 - - - - - [ - - - - - () - -
SP2E-P5 - - - - - - ° - - - - - ° -
SP2E-P6 - - - - - - - - - - - - - [
MER~(mm)
oD
e e L) A|lB|C|D|E|F|G|H|J|KI|Y
oF
oG ﬁ SP2E-32-GP 32 | 35 o7 | 23 | 20 13 2
; | « SP2E-40-GP 40 | 43 | 16 10.3 5 | 2 [25
L[ >4 . —@ SP2E-50-GP 50 | 53 36 | 31 | 27 135 3
o—t SP2E-63-GP 63 | 66 5 | 30 | 2 105 5
SP2E-80-GP 80 | 8 |, . s | 3
2C > SP2E-100-GP__ | 100 | 103 56 | 49.5| 43 - .
Z‘B\ SP2E-125-GP | 125 | 128 73 | 65 | 58
oE
oF
2G| R
ﬂ,‘ V k=3 A B|C|D E F G | H J K L Y
1
—— < SP2E-32-GF | 32 | 35 233 195
HI . i SP2E-40-GF | 40 | 44 | 16 |294| 27 | 2| 2 |103(215]| 5 | 2 | 7
% - SP2E-50-GF | 50 | 54 37 | 36 | 31 | 27 25 10
D) ==k >¢ SP2E-63-GF | 63 | 68 458 45 | 39 | 34 33 125
LA SP2E-80-GF_ | 80 [ 85 | [ 57 |56 [405[ 43| . [41| .| . [18
oC SP2E-100-GF | 100 | 106 715| 73 | 65 | 58 | 505 22
oD SP2E-125-GF | 125 | 133 90.3| 88 | 80 | 71 60 25
oA
oB

159



=5 P2ERF!
@o  spEE o EEEP

MR~ (mm)
GP B 24 1a GFRN -4 E

LI Ed
oE
pfe] oF [}
BAG | P
Ii mR
fa)
iUR=g Y] SP2E- T 32 GP N - Al0
OE=Z=0OXHE QREB|HE ©]):3: &34 O))3:¢ 7154 OREEY
Bs BB | A B C D E F G H e ®a| A B C D E F G H
- — - — YR A N - TIR&EK 1 _ SP2E-T-32-GF | 25 | 14.5 31 SP2E-T-32-GP 315 [ 21
T JMI‘:U 32 -032 80 @80 GP i’]*E:Fi ZHH%H& S SP2E-T-40-GF B8 M8 x1.25| 9.5 SP2E-T-40-GP B8 [33.5| 23 |[M8x1.25| 9.5 9
Y - t#m@ 40 - @40 100 — @100 GF-AENZETR S -EKRK SP2E-T-50-GF 255 15 40 SP2E-T-50-GP 37 | 265 40
SP2E-T-32-GF 17 ¥ g SP2E-T-32-GP 315 | 21 I o &
50 - @50 125 - @125 “spze-Ta06F | B10 22145 g0 55| 13 | ¥ SP2E-T-40-GP B10 [335] 23 |M10x15| 13 | o'
63 - @63 SR2EITES0SGH 255 | 15 40 SP2E-T-50-GP 37 265 [ 40 |
SP2E-T-63-GF 36 | 215 50 SP2E-T-63-GP 495 | 35 50
SP2E-T-80-GF “ SP2E-T-80-GP 575 43 | | 61 |
SP2E-T-100-GF | 512 285 | 24 MRz | 18 | =7 SP2E-T-100-GP | 512 [T67 [ 525 M12X 175 12 1755
SP2E-T-125-GF : 786 35 | o4 | 12 SP2E-T-125-GP 76.5 | 62 1 93.8 |
&1 TspaeTeseE || |, s SP2E-T-63-GP 495 35 s0] %2 | 24 | 12
o ) SP2E-T-80-GF B18 I mex15| 18 ~ SP2E-T-80-GP___| 575 | 43 [ 61 |
REEY s BoER #mo32~250 #HHo63~2125 #Mm@32~250 H#mo63~2125 SP2E-T-100-GF w55 24 Rk 61 sP2E.T-100.GP | B18 67 525 M18x 15| 18 g5
SP2E-T-125-GF : T-125- (938 |
AL0 M10X1 ° _ _ _ 78.6 SP2E-T-125-GP 76.5 | 62 93.8
AG1 G1/8 [ ] - - =
SMRL Al6 M16X 1.5 - ° - -
AL14 M14X1 [} - [} -
AL16 M16X1.5 - [ ] - [ ]
B8 M8X1.25 ° - ° - -
d+ ot
o e . - ° - GPIMBL T GF SMBRZ -
PR :
B12 M12X1.75 - [ J - [ ]
B18 M18X1.5 - [ ] - - AEXGA F Rc1/8
AEXAF Rc1/8 H ; E
| E o ‘
T
H [ & (O] | J
o O H | Rkt
| o | ) e e
H ! < oK —
B T
<| !
MER T (mm) TN e [ o
o L
- A =y - A =y ) ‘_’i ol
GPHHERET- 4 GF SRR T A J = o |
JE—
i AN ¥
:
oD, | AAREM oD | vavz:hapll]
fa)
fa)
< <m BE R A|B|C|D| E |[F|IG|H| J |K|L |M BE | A|B|C|D| E |[F|IG|H| J |K|L |M
@ SP2E-T-32-GF . SP2E-T-32-GP 56.6 | 31.6 | 21 .
SP2E-T-40-GF ALta| ST D145 | 6 nga |19 4 ?9’2 moxt|22] ¥ |6 SP2E-T-40-GP | AL14 58,6 (336 23 | 6 |Mt4x1/19| 4 ?9’2 woxt|22] ¥ |6
SP2E-T-50-GF 50.6 | 256 15 40 SP2E-T-50-GP 62.1]37.1] 265 40
2::::222:2: AL16 il Bkl 10 |M16x 1522 | 6 ﬁj_\% M16x 15 ﬂ10 2:22123:2: AL16 ;‘?g g;g 322 10 |M16x 1522 | 6 ﬁj_\% M16x 15 ﬁm
SP2E-T-100-GF 656 | 40.6 | 236 1 ‘2,4‘ X1 60.1 SP2E-T-100-GP 94.169.1] 521 : ‘2,4‘ : 718
Bs BB | A B C D E F G Bs B A B C D E F G SP2E-T-125-GF : : : 778 SP2E-T-125-GP 103.6/ 78.6 | 61.6 93
SP2E-T-32-GF SP2E-T-32-GP 275] 21
SP2E-T-40-GF f\‘g: 21 | ik Mé?/§1 49| | 6 | 6 SP2E-T-40-GP 2(1;2 295 | 23 Mé?/’é1 49|36 | 6
SP2E-T-50-GF 215| 15 40 SP2E-T-50-GP 33 |26.5 40
SP2E-T-63-GF SP2E-T-63-GP 44 346 48.9
—=e=n R 30.5 | 21.1 48.9 F~
SP2E-T-80-GF SP2E-T-80-GP 52 | 426 60.1
sp2e-T-100-6F | 16 33 | 236 WG S| 7 | Tz WO || 1O sp2e-T-100-6p | 18 [§15 [52.1] M16X 15| 7.4 17751 10 | 10
SP2E-T-125-GF : 77.8 SP2E-T-125-GP 71 |61.6 93

160 161



SP2E#R%!

TREFISAC R

MR~ (mm)
GPIMEN ZE—1EH

GFIMRLY R -15E[R]

AEHING F

SP2EZR7!

R HE R

263~0125 = #63~0125
=
s gy |[A[B|[Cc[D[E[F|[G[H] J[K[L|M|[P [Q]R &S By |[A[B|[C|D[E[F[G[H] J [K]L[M[P [Q[R
SP2E-Y-32-GP 3 SP2E-Y-32-GF 63.6/38.6/32.5| 21 .
sp2E-v-a0-p | aL1a|7T!| %1 B |145] ¢ “1114 194 xM053 Nx”fi 6 ?’QE 295 SP2E-Y-40-GF AL14 [65.6(40.6[34.5] 23 | 6 ’Tf 19| 4 xM055 Nx”fi 6 ?9’2 295
SP2E-Y-50-GP 57.6(32.6|265| 15 } 40 SP2E-Y-50-GF 69.1]44.1| 38 |26.5 ’ 40
SP2E-Y-63-GP N SP2E-Y-63-GF 86.1/61.1/51.1/34.6 [489 e
spae-vso-p |, APS|TOTOIANY gl 1L s 99 ;ﬁ sP2E-v-80-GF |\ (041[601[50.1[426] . 1M16| ,, | ¢ | M [EDT] o %‘%
SP2E-Y-100-GP sslsotla0tl 28| X158 x15(60.1 2’; SP2E-Y-100-GF 1036(78.6(68.6]52.1]  x15 x15[77.8] 2’4~
SP2E-Y-125-GP ) ) ) | 778 SP2E-Y-125-GF 113.1/88.1/78.1/61.6 93
P b
GPRIENLE-1EM GF RIEN L E-1#M
E
E H
J
uf A frae
J = M-M
mam M-M
] o0 M
M oK
om
oK o
oD AL AL
S R A|B|C|D|E|F|[G|H|J|K|L|[N|P|Q BS ¥R A|/B|C|D|E|F|G|H|J|K|L|[N|P|Q
SP2E-Y-32-GP SP2E-Y-32-GF 50.6|32.5| 21
SP2E-Y-40-GP s | 41| % |15 ¢ Ti; 95 [145|M5x08 M11° 13| 6 [ 16| 19|85 SP2E-Y-40-GF B8 [526[34523 | 6 ’fzg 95 [145|M5x08 “1110 13" 6 | 16 | 19|85
SP2E-Y-50-GP 45[265] 15 : R SP2E-Y-50-GF 56.1] 38 [26.5 : 4
SP2E-Y-63-GP kel g SP2E-Y-63-GF 75.1(51.134.6 1489
SP2E-Y-80-GP i i el D [ VEV M |~ SP2E-Y-80-GF 83.159.142.8] , [M12x M6 [60.1]
sp2e-v-100.-6p | 512 andlanilze 1075 | 12| 19| Ret®] o5 [gor] 10| 2| 2 |125 SP2E-Y-100-GF B12 loy6lea521] 0| 175 | 2 | " R | 15 [mra] 0| 2| 2|12
SP2E-Y-125-GP N 718 SP2E-Y-125-GF 102.1]78.1)61.6 93

162

SP2E- T 32

GP N JB

@ ® @ ® ®
@OE=ZO%ME QW}FEHRE ©))3: 31
T-49m= 32-032 80 —-@80 GP - /At 8
Y - &M@ 40 - ©40 100 - @100 GF — /It X EE
50-950 125 - @125
63 - 063
@B B OFhER @& HITIZ(FR])
N - THE1% JB - AI[E%, HHE
S —FERR
E3I
B FpiTiE @232~@50 @63~2125
10 10mm [ ] [}
25 25mm [} [}
30 30mm [ ] [}
50 50mm [} [
75 75mm [} [
100 100mm - [
HigaR
. 4 RRIBZEENE enpe HEZMERN (N)
RREHEZ REIELY (N.m) EiTiZ 051 H5E
10 5 6.5
25 6.9 11.8
@232~050 M18X1.5 28~32
30 5 8.5
50, 70 6.9 11.8
10 10 11.5
25 10 15
263~2125 M22X1.5 48~52
30 10 13.5
50, 75, 100 10 15
163



SP2E#R%I

SP2EZAY%I

B RIEEEEH SR

-
- &

e~

BETRETE A2
MR (mm)
+H+ Ay +HH N
GPH4%& Hzs—4a GF & Mas—4\m
I
ANEXnP I |
E Rc1/8 b P TN
HE = \Reti8
I e E ;T HE
ey || f _— 1L 8K
, w AR G | F
= : :|:7 D
wi | wl 3 !
T ! W 3 o ; ey 3
, | mz| © s ! Bz ©
< : iﬁ 32 [145| 31 w $ . 32 | 21 | 31
T [\RE 40 [125| 31 N 40 | 23 | 31
| |
o 50 | 15 | 40 = ! : ; 50 (26.5| 40
I
|l 63 | 211|489 Il 63 |34.6]48.9
: : : S : |
o ma | 80 | 21.1[48.9 ] 80 | 426 60.1
ik K 100 | 23.6 | 60.1 o \j}/ 100 | 52.1|77.8
=
‘j 125 | 236 | 77.8 oL, 25 o] 125 |61.6 | 93
oL E: L—m ‘
/N oI 3 1l oD
N ! 2D @ h )
[S) —Llir d 5
T | IENEN
oM | \sEEAN oM |\ AR
BE BhiTiE A B E F G H J K L M N P
10 1011 491
SP2E-T-32 25 1111 59.1
SP2E-T-40 30 126.1 741 M18x 1.5 35 27 1 16 M10 x 1 19 3 6 14
SP2E-T-50 50 146.1 94.1
75 182.1 130.1
10 130 60
SP2E-T-63 25 139 69
SP2E-T-80 30 155 85
e = = = M22x 1.5 50 30 8 24 M16x 1.5 28 4 10 17
SP2E-T-125 75 215 145
100 250 180
- Y +H Y
GPHE - 1EMA GFHEHS18A
i R P ; L NARhBP
F | Va— H j S
F |
(0]
= PluE < INEE
(|l
o 53 | 531
< : : : BE C D M : BE C D M
o 32 (145 31 | 26 ! K 32 | 21 | 31 (325
| | | K L
| 40 |145| 31 | 26 40 | 23 | 31 |345
L ! T
@ i g 50 | 15 | 40 | 265 T-HVEE 50 |26.5| 40 | 38
T 63 | 21.1|48.9|37.6 Q W Q 63 |34.6|48.951.1
Q = Q | oD
\ 80 | 21.1(48.9|376 = 80 426 60.1(59.1
*L:i ol &= 100 | 23.6 | 60.1| 40.1 o 100 | 52.1|77.8 | 68.6
o E e
= 125 | 23.6 | 77.8 | 40.1 — i 125 |61.6 | 93 | 78.1
; :
oE | \AERHAN oE_| \FEmBN
BS EAHITIZ A B E G H J K L N P R S T
10 96.1 52.1
SP2E-Y-32 25 106.1 62.1
SP2E-Y-40 30 1211 771 8 |M18x15| 35 27 1 | M5x0.8| M10x1 6 14 16 19 8.5
SP2E-Y-50 50 1411 97.1
75 17714 | 133.1
10 127 67
SP2E-Y-63 25 136 76
SP2E-Y-80 30 152 92
SPaEY100 = = o 10  [M22x15| 50 30 8 Rcl1/8 |M16x1.5| 10 17 24 28 125
SP2E-Y-125 75 212 152
100 247 187

164

SP2E - T F
® o

32

GP

N — AL14
®

® @ ®
OEZOKM @EER N OREEHRE
T -4\@ F - oJ$EiRs 32-032 80 —-@80
Y - #m 40 - @40 100 - @100
50 -9@50 125 - @125
63 - @63
@R A Ok R ©REELY (K1)
GP - /i F A N - T BE1%A
GF - /AERNER S - B
=1
4
By Bs BaA A iz
@232~250 263~2125 @32~250 @63~0125
AL14 M14X1 [} - [} -
MR All6 M16X1.5 - [} - °
B8 M8X1.25 [ ] - [ ] -
Rk B12 M12X1.75 - [ ] - [ ]
MERF(mm)
GPAEN T R-Y\[M GF RN ZR-MA ot
K aJ F
oH ‘ L~
XK 2J F = b
wy g —
= Iy P »
-
|
<
= oN aP \
o
P A\ (&)
[ r
g /[A\=1J;A& . 1
o€/ oF |
30° 30°
(ENBE) (ENAE)
B #H[A[B|C|[D[E| F [G|H|[J[K|[L[M[N][P ES WE[A[B|C|[D[E| F [G[H|[J[K|[L[M[N]P
SP2E-TF-32-GP SP2E-TF-32-GF 476]25.7] 21 [20.9
SP2E-TF-40-GP g | 1]192)145)144] ;50 ME | g |16 |13 |14 15|55 |17 | % Tsae-Tr-ao-er | B8 [ass[or] 28 [m]25| MO | 9 | 16 (13 |1 |1ms|ss |47 |
SP2E-TF-50-GP ag[197] 15 (9] | B ] SP2E-TF-50-GF 531312]265(2%64] | *" o
SP2E-TF-63-GP SP2E-TF-63-GF 77 | 44 | 35 3641 50
635( 305|215 |226 50 -
SP2E-TF-80-GP 12 SP2E-TF-80-GF 8 [ 52 [ 43 [41] , | W12 5]
sP2e-TF-100-GP__| D12 N Hlxags| M) B2 2682 e SP2E-TF-100-GF | D12 [a45(e15]525 536] * [x175| 1| % |18 (2] 21| 6 |32 555
SP2E-TF-125-GP ) 786 SP2E-TF-125-GF 104 | 71 | 62 |63.1 938
165



SP2E#&%! R
@ EEU&QE%E%;;%E @ ;§§§§;§Eg§ﬁ§qzjg§

1l
MR T (mm) |
. . 1
GP IMEN L LA GF MBI R E-Y\F) i
AERHH Re1/8 il
pay; 5L Rc1/8 [ } © E
o ™ | =
& 5 i 4
K |
7 Ll R .
< oM
M oN D L
o Skl > R SHHE -
ST = SP2E T F 32 GP N JB 10
%° ®© O ® @ ® ® @
(ZzhFafE)
S J|K|L|M|N BS B A|B|C|D|/E|F| G |H|[J|K|L|M|N
SP2E-TF-32-GP SP2E-TF-32-GF 60.1{35.1|125.7| 21 [20.9
_SP2E-TR-32.GP | 1536|286[19.2/145(144 14 i 3 14 i 3
SP2E-TF-40-GP___| AL14 25 19 4 2|1 SP2E-TF-40-GF | AL14 |62.1[37.1[27.7] 23 | 229] 25 19| 4 2|1 N " o
SP2E-TF-50-GP 54.129.1]19.7] 16 149 al & (% SP2E-TF-50-GF 65.6/406)31.2265)264] | ® N OHZABA QEEHR OREHE
SP2E-TF-63-GP N SP2E-TF-63-GF 80 | 55 | 44 | 35 | 36.1 150
SP2E-TF-80-GP S g L M16 % e SP2E-TF-80-GF 88 | 63 | 52 | 43 |44 M16 A 61 T -4\Mm F -0oJigiEsl 32-9232 80 - @80
s AL16 4 2| 6w /|2 AL16 4 2|6 [wol /| R
P2E-TF-100-GP 69 | 44 | 33 | 24 [25.1 x15 2 | 61 SP2E-TF-100-GF 97.5|72.5/61.5|52.5| 53.6 x15 2 |786
SP2E-TF-125-GP : 786 SP2E-TF-125-GF 107] 82 | 71 62 |63.1 %8 Y - 1M 40 - ©40 100 - ©100
. vt 50-@50 125 - @125
GP MBI R E—1EA GF IMEN R &M
ARG N-N 63 - @63
e F 32~050
ABAG NN w o
532~050 [ D
T, |
&
| J
< LY e
< N w N
N-N : N-N @ 25 O §:2 7154 ©E AR @& HITIZ (K1)
263~0125 oL | ST © 263~0125
o ‘ N . X
w @QQ o GP - /TR N - TREH AR JB - BIEIEE, HiE
HCeg == HCeg GF - MR E R s -BigR
\ oK T
30°
P (ZhFRRE) L—P
ne @B [A[B[C[D[E[F[G[H[J [K[L[M[ P [Q[R ®= @3 |A|[B|[C|[D[E[F[GH][ J [K[L|M[ P [Q[R
SP2E-YF-32-GP . SP2E-YF-32-GF 70.1/20.9/39.1/25.7| 21 .
SP2E-YF-40-GP | ALtg | 20| 144|326 T82[MS|MIE fyg ), | W8 15| 31 |y ng’a n(ss sP2E-vF-a0-GF | ALt |1211229|41.1(277] 28 | " 10| 4| M | 25| 51|47 | T 5p g5
SP2E-YF-50-GP 64.1]149] 331197 | 15 : 10 SP2E-YF-50-GF 75.6]26.444.6]31.2]26.5 : I
PR |y N G N O e P e e P ], |7
sp2e-vr1006p | A1 o1 L2156 | 33 | 20 |15 ||t 4 | 124’3 sp2e-vF-100-6F | 18 (1195753 6[a45[61.5052.5) x 15 | 2| & [R1| 4 [786) % ig% =1
SP2E-YF-125-GP : 786 SP2E-YF-125-GF 129 ]63.1] 94 | 71| 62 %8
L P = [P e as EhiTiE @32~250 @63~2125
GP REN L E—tEm GF AR LM ’
oG F
) 10 10mm [ )
I
i J 25 25mm ° )
« ¥ aR Z ) 30 30mm ° °
t 50 50mm ° .
< < 75 75mm ° ®
oL | A to 100 100mm - °
a ol [ 3%34@ o
D IR
ok ]
30°
(BE=hRE)
BS #m[A[B|[C[D[E[F [G[H[J [K[L[M[ P [Q[R == #x[A|[B[Cc[D[E[F[G[H] J [K[L M P [Q[R
SP2E-YF-32-GP . SP2E-YF-32-GF 57.120.9/39.6|25.7| 21 8
SP2E-YF-40-GP | AL4 | 00|14 S1]192]145] B [yg)5| NS |07 | 1|17 1116’21 1985 __SP2E-YF-a0-GF | AL14|59.1220lat6]277| 23 | M || 5| 1 1 a7 | ¥ |7 71’6@ 19/85
SP2E-YF-50-GP 511 [14.9|336[197| 15 |* - : a0 SP2E-YF-50-GF 62.6]26.4]45.1/31.2]26.5)" " : 0
SP2E-YF-63-GP SP2E-YF-63-GF 90 [36.1) 67 | 44 | 35 50
—SP2BYP63.GP | |765|206(535(305|215 50 Pl
SP2E-YF-80-GP M12 L7 | o | XD SP2E-YF-80-GF 98 |44.1) 75 | 52 | 43 | M12 | 61|, |38
sp2e-vF-t00-6p | A8 T T T T Platzs) 18] € (ROEN 40 6121797 24125 spae vr-t00-6F | A [rs[sasleaslot slsslxtrs) | © |R1E| 40 [7a6) 2| 2 | X120
SP2E-YF-125-GP ) 78.6 SP2E-YF-125-GF 11716311 94 | 71 | 62 93.8

166 167



SP2EZAR%!

HETREEREREEE R

MER~(mm)
GPH & H23—4hm

GF & Maa—4m

XA P Rci/8 AEMBHP Rc1/8
c Y R
= , =
j HE i
e L
N K Ay
, ‘ , !
. : } Ix— |
I 1 « |
3 g ]
. | N [
| i} !
< HE R 131
| \ D
; | ] @ C | D | E|N . B oc E | N
l ! | 32 [19.2 (145 [14.4| 31 32 [257] 21 |209] 31
I} (l
. ot 40 [19.2 145144 | 31 @ 40 |27.7| 23 |22.9]| 31
L3 50 [19.7| 15 [14.9] 40 i 50 |31.2] 265|264/ 40
AL 0
A 63 |30.5|21.5|226| 50 63 | 44 | 35 [36.1| 50
T " 80 |30.5|21.5(226| 50 80 | 52 | 43 |44.1| 61
100 | 33 | 24 | 251 61 oN 100 | 61.5 | 52.5 | 53.6 | 78.6
® oN | A | 125 | 33 | 24 | 251|786 Cla| | 125| 71 | 62 |63.1/9338
[a] ; w )
/3 .
ofF/ !
30°
(ZRE) (ZEhRE)
Bs FEHTIE A B F G H J K L M P
10 103.9 46.1
SP2E-TF-32 25 113.9 56.1
SP2E-TF-40 30 128.9 711 25 M18x 1.5 35 27 11 14 17 14
SP2E-TF-50 50 148.9 91.1
75 184.9 127.1
10 138 57
SP2E-TF-63 25 147 66
SP2E-TF-80 30 163 82
gt = e T 4 M22 x 1.5 50 30 8 22 32 17
SP2E-TF-125 75 223 142
100 258 177
= ALV AN = AL VAN
GPHE&E HEs—1#m GFH & st
AERIQ AERNQ
Lo H
- wE
and\ ][]
I
I
A T
I
=, [ I}
I
T PNE
[ : 1
{1
[ (l
B @ L) R\ c b |E|F|m
gz C|D|E|F|M™ . BE
2 | 257 20. J 1
32 [19.2 (145 |14.4|32.1| 31 EiiE e |2 [ Z57]| 21 |ZO[HE| €
40 |19.2 145|144 |321]| 31 u on Y 40 |27.7| 23 [22.9|406| 31
50 |19.7| 15 |14.9 326 | 40 oM m 50 | 31.2|26.5|26.4|44.1| 40
63 |30.5|21.5|226(53.5| 50 o w 63 | 44 | 35 |36.1] 67 | S0
80 |30.5|21.5(226|535| 50 - ! 80 | 52 | 43 |44.1| 75 | 61
2
100 | 33 | 24 [25.1| 50 | 61 30° 100 | 61.5|52.5 | 53.6 | 84.5 | 78.6
30° 125 | 33 | 24 |25.1| 50 | 786 (EsNFaE) 125 | 71 | 62 [ 63.1| 94 |93.8
(ZzhfE)
S EiTiE A B G J K L N P Q R S T
10 98.9 52.1
SP2E-TF-32 25 108.9 62.1
SP2E-TF-40 30 123.9 771 25 |M18x15| 35 27 11 17 M5 x 0.8 14 16 19 8.5
SP2E-TF-50 50 143.9 97.1
75 179.9 133.1
10 1345 705
SP2E-TF-63 25 1435 795
SP2E-TF-80 30 159.5 95.5
e = ol TEn 4 M22x15| 50 30 8 32 Rc1/8 17 24 28 125
SP2E-TF-125 75 2195 155.5
100 2545 190.5

168




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6

